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QUESTION 1

Which of the following is generally a component of a BYOD policy? 

A. Scope of control 

B. Insurance on devices 

C. Maintenance provision 

D. Device replacement or upgrade 

Correct Answer: A 

 

QUESTION 2

Ron has an older computer to which he frequently downloads and saves company files. He recently noticed that he was
running low on disk space and decided to delete many old files that he no longer needed. He now notices that it takes a
long time to open or save documents to his hard drive. Which maintenance task can help? 

A. Disk defragmentation 

B. chkdsk command 

C. fdisk command 

D. Disk cleanup 

Correct Answer: A 

 

QUESTION 3

Which type of attack involves the installation of malicious code on personal computers or servers that redirects Internet
traffic from a legitimate Web site to an identical-looking but malicious imposter Web site? 

A. Pharming 

B. Spoofing 

C. Phishing 

D. Replay 

Correct Answer: A 

 

QUESTION 4

Which of the following statement about virtualization is true? 
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A. Virtualization enables multiple physical computers to run off of a single virtualized server. 

B. In virtualization, you run multiple virtual machines, provided they all use the same operating system. 

C. In virtualization, the operating systems of the virtual machines should match the host operating system. 

D. Virtualization enables you to run multiple operating systems and applications on a single computer. 

Correct Answer: D 

 

QUESTION 5

The Internet has enabled many new anti-social activities, such as online stalking, cyberbullying, and addiction to solitary
online activities. Which choice is the most feasible way for schools and parents to reduce cyberbullying? 

A. Monitor, track and record all online activity conducted by students. 

B. Teach teens that the use of online communication is a freedom of expression. 

C. Prevent students from accessing the Internet while at school so that they learn good habits. 

D. Educate students about cyber-ethics and the consequences of questionable online behavior. 

Correct Answer: D 

Latest 1D0-61C Dumps 1D0-61C VCE Dumps 1D0-61C Exam Questions

Powered by TCPDF (www.tcpdf.org)

Latest 1D0-61C Dumps | 1D0-61C VCE Dumps | 1D0-61C Exam Questions                                3 / 3

https://www.passapply.com/1d0-61c.html
https://www.passapply.com/1d0-61c.html
https://www.passapply.com/1d0-61c.html
http://www.tcpdf.org
https://www.passapply.com/1d0-61c.html
https://www.passapply.com/1d0-61c.html
https://www.passapply.com/1d0-61c.html

